Contents of Kit

Qty.

Windscreen, Lexan FMR polycarbonate 1

Bag 515
Cap, aluminum

Screw, Flat HS M5 x 40
Screw, Flat HS M5 x 30

Bushing, Rubber

Figure 2

-

NN

©2004 National Cycle, Inc.

L=

P/ &

wW-=DMNw

Figure 3

L=

——

P== o P P

] 1=

Read these mstructlons carefully and thoroughly before beginning work.

ZTechnik Lexan® FMR Polycarbonate Windshield

22263 for F 650 GS Dakar 2001-2003
Will also fit the F 650GS Standard 2001-2003
with additonal part from BMW, see Note below.

Tools Required:

TX25 Screwdriver.
3mm Hex Key

INSTALLATION

1. Remove the 3 original Torx screws from existing BMW wind-
shield. Screws will not be reused. Figure 1. (TX25 Screwdriver)

2. Remove the original BMW windshield. The U shaped plastic
piece beneath original windshield will fall free. You will re-use this
piece with the installation of the ZTechnik windshield.

NOTE: To properly install this shield on an F 650 GS (NON-
DAKAR Model), you will need to purchase the U-shaped plastic
piece from your BMW dealer. The BMW part number is
71-60-7-653-849.

3. Install 3 rubber grommets into new ZTechnik windshield holes.
Figure 2.

Install ZTechnik Windshield

4. Reposition U shaped plastic piece. Start at the lower center
hole and install the ZTechnik windshield with 1 Aluminum Cap and
the M5x30 Screw (short screw.) Figure 2. (3mm hex Key)

5. Install 2 remaining Aluminum Caps and the M5x40 Screws at the
remaining hole locations, left and right side. Figure 3. (3mm hex
Key)

6. Firmly tighten all screws.

MAINTENANCE

To clean the screen, wash with a clean soft cloth, plenty of warm
water and, if necessary, a non-abrasive soap such as dishwashing
liquid. Flannel or soft chamois make good cleaning cloths. Paint,
glue residue or grease removal: Moisten cotton with Naphtha or
Turpentine followed by a wash as above. Apply a high quality plas-
tic cleaner. This will leave a protective coating on the screen mak-
ing future cleanings easier. Do not clean polycarbonate in hot sun
or high temperatures.Do not clean the screen with glass clean-
ers. Do not use rain protective products on the screen. The
solvent action of the alcohol in these products will destroy the
screen. Do not allow brake fluid, alcohol, or strong solvents to
contact the screen or penetrate between the chrome brackets
as permanent damage will result!

i A o eNRWREEEET

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@Z Technik.com

a i

Page
L=

1 of 1 10-117757-000 04/04 Rev. A. 10/04
bl - A 7 a—



